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I nstructions:
1. Attempt all questions.
2. Makesuitable assumptions wherever necessary.
3. Figurestotheright indicate full marks.
4. English version Authentic
Q.1 Answer the following in short
1  State any four methods of power transmission.
2  State any four applications of welding.
3  Define boiler and state it's three name.
4  Explain working principle of two stroke petrolgne.
5 Meaning of term “Prime mover”.
6  Write any four type of fluid flow.
7  What is Priming?
Q.2
(@) Define slip and state methods for reducing &lxplain any one of
them.
(b) State types of gear train and Explain any oitle figure.
OR
(b) A beltis having safe tension force of 1500d, angle is 170° and
frictional coefficient is 0.27, find net drivingrision?
Q.3
(@) Define Welding and states types of welding.
(b) Compare brazing and soldering.
(c) Explain working principle of simple carburetaith sketch.
OR
Q.3
(@) Compare flat belt with V-velt.
(b)  Write advantages and disadvantages of oxyasetygas welding.
(c) Differentiate between petrol engine and diesgjine.
Q4
(@) What is boiler mountings and accessories? Write fi@me of each.
(b) Explain working of two stroke petrol engine.
(c) The following observations made during trial on tstoke single
cylinder oil engine, find Indicated Power?
1. Mean Effective Pressure 5.5 bar
2. Length of stroke 28 cm
3. Bore of Cylinder 21 cm
4. Speed of Engine 360 rpm
OR
Q.4
(a) Differentiate between Centrifugal Pump and Reciating Pump.
(b) Explain working of four stroke diesel engine.
(c) Compare fire tube boiler with water tube boiler.
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Explain with sketch working of centrifugal pump.
State assumptions and limitations of Bernoulli'si&tgpn.

State factor effecting on selection of materialdisog equipment.

OR

Derive continuity equation of fluid flow.
Draw neat sketch of pelton wheel and label on it.
Single acting reciprocating pump has a bore 150manséroke

300mm and it rotates at 40 rpm find the theoreticstharge in liter

per second.
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